11819. XOR Sum
Print the answer for the following code:

cin >> n;

for (int i = 1; i <= n; i++) {

    cin >> a[i];

}

long long ans = 0;

for (int i = 1; i <= n; i++) {

    long long sum = 0;

    for (int j = i; j <= n; j++) {

        sum += a[j];

        ans ^= sum;

    }

}

cout << ans;

Input. The first line contains a single integer n (1 ≤ n ≤ 3 ⋅ 105) – the number of elements in the array.

The second line contains n integers a1, a2, ..., an (0 ≤ ai ​≤ 109).

Output. Print the answer for the given code.
	Sample input
	Sample output

	2
1 1
	2


SOLUTION
dynamic programming
Анализ алгоритма

Реализация алгоритма

